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(iii) EUE & — T G&IT 1 § 20 TG TR & ¥ 6 | T4F T 1 S H 3 |

(iv) T@UE G — T G 21 § 24 31 TY-ITT JHR & T & | T T 2 3l H18 | §1
Y91 T I 40 ITsal G 37ferek a1 forar sir 9nfau |

(v)  TUE T YT G125 € 29 TG-I70T TFN & T3 & | T T 3 31 1 8 | 37 T4 &1
ST 60 1551 @ 37ferek Ta forn ST =7fau |

(vi) TUS T — 97 G&IT 30 § 33 TE-3709 TFR & T37 & | TAF I3 5 37ehl 7 8 | 37 J91 7
SR 120 1531 @ 3781k Ta for@n s =1feT |

(vii) TWUE T — T3 &I 34 T 36 FT/FI-3enild I37 8, o8 i Iu-I%7 & | Ie9% T3
4 HFIFEI

(viii) U o — 99 GE&IT 37 HIHTT FIVA-TRT I3 8, o764 3l 9171 & — 37 () 3fasrg
(2 %) 3R 37 (@) TN (3 %) | 39 I % Fcl 5 HAF 8 |

(ix) 9P AIh, I & 1o IO Qe & forq foF aom qrted 37fa STaTia I941 &
T TR TF 377 I3 1521 7797 8 | §79 401 o IR hayed givaniera wiensf g ford |

Eusg h
[CREETE IR L) (20x1=20)
1. “forvar wer foreprer gerehish @ wsiftrd Fwfetfa drferent 1 steaem Sy 31K 3aeh

Fier few T g 1 s A 1

Fd |3 ferar # A7t foere

AT 1 FHIF

1 Yid 130

2 MR 148

3 ERIS| 149

4, | rieREa 150
faw  3ent & &, Ffctiad & & iH-|1 231 e oo gerehish § ITeaH €U Wdr e ?
(A)  UTfeREA (B) ¥Rd
(C) U (D) wWR
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General Instructions :
Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.
(i) Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iii) Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case /Source-based questions with three
sub-questions. Each question carries 4 marks.

(viii) Section F — Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)
1. Study the following table related to ‘World Human Development Index’
and answer the questions given below : 1
S. No. | Country HDI Rank in the world
1. India 130
2. Myanmar 148
3. Nepal 149
4, Pakistan 150

Amongst the given countries, which one of the following countries has the
highest rank in ‘Human Development Index’ ?

(A) Pakistan (B) India

(C) Nepal (D) Myanmar
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2. FAfeiad o & -8 TsHifaes gt % ed o 8 2 e foshed o1 = hifsg ;
I.  9ar
II. 9T aee
III.  omd®
IV. <o
forerea

(A)  wHad L II I ar e |
(B) whad II, III IV F&1 & |
(C) FHad L III IV T&r &)
(D) FHaAL II IV g &)

3.  Tamfciiiad & & wet gfera g st = Hifery :

(@) ()
(A)  FATET - THH
(B) ®iefifoRm - HeTeHh
(C) oAEfermm -  THHS
(D) & S RIEED
4. SR A T TEHEAHATE ! AHET HT GuTa fiiad # & forer Tepr i smes
SIEAT ! Y& Hleh (ohaT ?
(A)  TpIHS (B)  EI&IcHh
(C) HoTcHH (D) HHSTHS

5. WY IH &Y I 9 e Hfe 1 w2t faerea o1 === i

@yl iy II
(@) (759 @)
a. g IAEH i T
b. WH i, et
c EIE I iii. =S
d. @& iv. T
IEETE
(A)  a-iii, b, c-iv, d-ii (B)  a-iii, b-i, c-ii, d-iv
(C)  a-ii, b-iii, c-i, d-iv (D)  a-ii, b-iii, c-iv, d-i
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2. Which of the following are the main components of a political party ?
Choose the correct option : 1
I Leaders
I1. Active members

III.  Followers

IV.  Pressure groups

Options :

(A)  Only I, IT and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Only I, III and IV are correct.
(D)  Only I, IT and IV are correct.

3. Choose the correctly matched pair from the following : 1
(Country) (System)
(A) Canada - Unitary
(B) Bolivia - Federal
(C) Australia - Unitary
(D) Spain - Federal
4., Belgium solved its problem of majoritarianism by strengthening which of
the following types of government ? 1
(A)  Unitary (B) Presidential
(C) Federal (D) Parliamentary
5. Match Column I with Column II and choose the correct option : 1
Column I Column I1
(Minerals) (Major Mines)
a. Iron ore i. Gaya
b. Mica ii. Singarauli
c. Bauxite iii. Chandrapur
d. Coal iv. Maikala
Options :
(A)  a-iii, b-i, c-iv, d-ii (B)  a-iii, b-i, c-ii, d-iv
(C)  a-ii, b-iii, c-i, d-iv (D)  a-ii, b-iii, c-iv, d-i
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6. fAfafad § & HF-81 &7 1866 H Tehishd g2l ol fewdT o147 2
(A)  @rfefaT-deHive

(B) Afvmm
©) fafoeht
(D) UIA ST

7. S~edl Gt qo AN o 09 @ Sl ST % rfafad s @ ufey it wd
Torehe w1 = HifST

I e R

II. T[] sht gl

III. SRt 1 ST

IV. TfHe T 3R EE
e :

(A) Al II I TEr e |
(B) AT I, III 3R IV TErE |
(C) Aol III IV T )
(D) Fa L II IV T |

8.  TH P AECH FAGH © :
(A) | AT
(B)  hicwe™
(C) aren! ST
(D)  3ACHhS et

I 32/1/3 Page 6 of 27



6. Which one of the following regions became a part of unified Italy in
1866 ? 1

(A) Sardinia-Piedmont
(B) Venetia

(C)  Sicily

(D) Papal State

7. Read the following reasons of migration of people from Europe to America
till the 19th century and choose the correct option : 1
I Poverty and hunger
IT. Slaves for sale
III. Wide spread of diseases
IV. Religious conflicts and persecution
Options:
(A)  Only I, II and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Only I, III and IV are correct.

(D) Only I, II and IV are correct.

8. The author of ‘Book of Marvels’ is : 1
(A) Marco Polo
(B)  Columbus
(C)  Vasco da Gama

(D)  Alfred Crosby
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9. WA R o1 155 wraTsdt i fie depfd mmg s @ € | Ffofaa & @ sF-ar
3T I T FeTE FEwquf v & 2

(A)  geh TigRifeEt @ srem e

(B)  TEAehIcral shi HTTIhl § HHT

(C)  UTST ol BT & Ul A hl AT H Feradt
(D)  fSic ¥ st 3TR §tehar § g

10. 9 | I o FHATARad aT sl &TheT shi ghe ¥ Hoidl 3 o I 6 o A |

mﬁ%@ﬁm IR Tt farehed T == aﬁﬁ‘r\r :
I.  oAxfaq

II.

III. fafisa

ehew :

(A) IILII, I

(B) I,II,III

(C) II,II, I

(D) L LI

11. giwm oy e Fefafaad o g rsa g faa 2 2

(A) HE IS
(B) TS

(C) I
(D) HEWS

R
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9. Assume you are doing research on 150 century print culture. Which of
the following would be the most significant advantage for your research ? 1

(A) Easier access to rare manuscripts
(B) Reduced need for libraries
(C)  Increase in the ability to copy text by hand

(D) Increased speed and accuracy of print

10. Arrange the following categories of forests in India from the largest to the
smallest in terms of area and choose the correct option : 1

I Reserved
1I. Protected

IIT. Unclassed

Options:
A IILILI
(B) LIIIII
(C) ILII,I
(b)) I LII
11. ‘Sariska Tiger Reserve’ is located in which one of the following states ? 1

(A) Madhya Pradesh
(B) Rajasthan
(C)  Uttar Pradesh

(D) Maharashtra
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12, &9 1R & 119 farer hifor o7 welt forched st =rer shifer
w1 w11
(&) ()
a. TSﬁT@‘S’ 1. B
b. T TR ii. o
c. NS ENR iii. el
f@;( iv. "M
fereeu

(A)  a-iv, b-i, c-iii, d-ii
(B)  a-i, b-ii, c-iv, d-iii
(C) a-iv, b-1, c-ii, d-iii

(D) a-i, b-ii, c-iii, d-iv

13. UM — TMETad He H A e TSIt & e ed §a faehed sl @ hifog ;
(A)  Fieeh, He AR AT
(B)  HENISZ, Flesh HIT ATY TawT
(C)  TSHId, HEWISE SN Hed axr
(D) HNEE, 30 o 3R fam

14. AT SHIFSY for 3119 Sl 1 fooedt @ <<ie e wiet & widet 89 & foe, gge qnt
YT S | AT o S AT T 5 8 -6 Foe Qi § ST € oe ?

(A) TEd (9F)

(B) waH!
) W
(D) SaR
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12. Match Column I with Column II and choose the correct option :

T o

e

d.

Column I

(Dam)

Hirakud 1.
Gandhi Sagar 1i.
Nagarjuna Sagar iii.
Mettur iv.

Options :

(A)
(B)
(&)
(D)

a-iv, b-i, c-iii, d-ii
a-i, b-ii, c-iv, d-iii
a-iv, b-i, c-ii, d-iii

a-i, b-i, c-iii, d-iv

Column I1
(River)
Chambal
Krishna
Kaveri
Mahanadi

13. Choose the correct option regarding major states involved in the

Krishna — Godavari issue :

(A)
(B)
(&)
(D)

Karnataka, Kerala and Tamil Nadu

Maharashtra, Karnataka and Andhra Pradesh

Gujarat, Maharashtra and Madhya Pradesh
Jharkhand, Andhra Pradesh and Odisha

14. Imagine you are travelling from Delhi to Chandigarh to attend a

wedding, by road in January. Which of the following crops will you notice

prominently in the fields during the journey ?

(A)
(B)
(&)
(D)

I 392/1/3

Paddy
Maize
Wheat

Jowar
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15. A= wem Re e | I Afirped (A) SRFR (R) § | T T 1 LA T16T

3T T forened 1 =@ HifSe

ATYFRIT (A):  @HS HN S(Tad o 3 a9 & |

#R (R) : Tt wsftar aeqatl 1 @IS ot STTawsha il & |
formea

(A) (A 3R (R) 3HI & & 3 (R), (A) I H& A&7 |

(B) (A) ¥R (R) 3HI €&l 8, W (R), (A) I Gl AT 8T © |
(C) (A "Ere, 9q (R) T & |

(D) (A) Td 8, W (R) @&l e |

16. =3 wE [ wE 11 faw 7w § | I7 oMl ol e afeu iR aet fashed o1 =
SHifere
FT] : SR § e Il JeeieRtor i SisRaT S I A a1 T &
FFH T |

9 11 : 38 sl gt ook SReq Al ol diisra STqfdt bl | AT T Evid foram € |
freea :

(A)  FYT ISR SHT F-T § R H 11, F9F [ 6 T8l AT ¢ |

(B) W I 3711 SHT Wel €, T e 11, e 1 ot ot e 787 © |

(C)  FHUTIHE e, W HUT I T 2 |

(D) U [ TTed ©, W e [T et 2 |

17. ¥R % A &t 7 Hefiad § @ ShiH-61 998 370 5R0T sht STTaRIehdT3l sl QU
% fore eronties |t ow it g 2
(A) T ufEr
(B) &Y HUT aTel UHER
(C) M, TS 3 &y wufty aret uiEr
(D) 3, T 3R w7 Hufty aret giEar
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15. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1
Assertion (A) : Minerals are an indispensable part of our lives.

Reason (R) : Allliving things need minerals.

Options :

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

16. Two statements I and II are given below. Read both the statements
carefully and choose the correct option : 1

Statement I : Rapid improvement in technology has been one major
factor to stimulate the globalisation process.

Statement Il : This has made much faster delivery of goods across long
distances possible at lower costs.

Options:

(A) Both statements I and II are correct and statement II is the correct
explanation of statement I.

(B) Both statements I and II are correct, but statement II is not the
correct explanation of statement I.

(C) Statement I is correct, but statement II is incorrect.

(D) Statement I is incorrect, but statement II is correct.

17.  Which of the following groups in urban India depend on informal sources
to meet their credit needs ? 1

(A)  Poor households

(B)  Households with few assets

(C)  Both poor households and households with few assets
(D)  Both well-off households and households with few assets
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18.  umur &= # foramt o foTw Tt St @ 0T AT g @ & Siar § 2 Feferfaa
TN b UTST I Ger SUFeH forshed b1 =13 shifST :
I. U <hl 39T
II.  Sifee ufshan
III. =07 & STl ANTd
IV. SIHTehdT <hl ST

%W:Wcr:
(A) FHIAL I AR F=r e (B) HaA 1L, III IV o & |
(C) I, II IRV " | (D) a1, I ATV "1 8|

19. feuwwu fom ot 2fgu ot 34es i fou e 9 shr S difSie

e & fora ST aredt st stefsarereen o forer €51 o Sfdid 3T R 2
(A) Tl (B) =g (C) Tsdtaeh (D) T

TIe :  HIIREd I97 e giteartara aierTierat & fo7q So7 681 19 & ¥ W2 |
freafeRaa 5 & foraent srt srefeaawen o fadias & o sTmar & 2
(A)  TYuRd! qTeTeh (B) WEHR
© TR (D) wWgsm

20. X’ U HES H AT & | I8 Al bl Wl o WA WA f FAT B | K H

AIITEAT o TohlT &1k o STaTia ST 2
(A) i (B) fedfraew
(C) qdrEeh (D) =qdes

o
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18. Why does it become difficult for farmers in rural areas to take loans from
government banks ? Read the following reasons and choose the most

appropriate option : 1
I. Lack of collateral
I1. Complicated procedure

III.  Higher cost of borrowing

IV. Lack of awareness

Options:

(A)  Only I, II and IIT are correct. (B) Only II, IIT and IV are correct.
(C)  OnlylI, IT and IV are correct. (D) Only I, III and IV are correct.

19. Look at the given picture and answer the question that follow :

The work being done in the picture falls under which sector of the economy ? I

(A)  Primary (B) Quaternary (C) Secondary (D) Tertiary

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 19.

The work of which of the following comes in the secondary sector of the

economy ? 1
(A) Bee-keeper (B) Moneylender
(C) Basket weaver (D) Fisherman

20. X lives in a town. He cultivates flowers along with animal husbandry.
The work of X’ will fall under which sector of the economy ? 1
(A)  Primary (B) Secondary
(C) Tertiary (D) Quaternary
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21, ifiTeh STEHTAT %! T o IS af ST sy | 2
22. el 7T % A1 S il sht s i | 2
23. (F) R H YR TR’ F 39T H IuTaREe foiret AT i qiieer @
TqeE 1T | 2
AT
(@) TS AT e o T Al Y8 ATHe & 2 & doh ookt TTE TSI | 2
24, UiERd UEfieht § g3 3fd 4 fohd TR oveftertor gfskam &1 Iifta fomam 2 e
HifeTT | 2
Lug T
(GREEERES)! (5x3=15)
25. USgATE I foR AT Sl FATSAT hl TSI i o eI § AT g3l |7
TS SATGIA & He T 30 hf ohl ST SHhifST | 3
26. fiam it et 1 ufeu 3T 3o e fw T we w6 s i
gt st wETr
T sram o T o aTedt & 7 70 YNER % 9Ty O SIS e 7 Bl § | 98
O IRER o eI T U AW % Tohe T I IEUTd shl ShIeeht o STclTeht |1 hLd
@ F IR T AT FLAT 8 | T8 TR TRAR % T ok 61 14 6 1ol g i
F T T UM AR A9 W o a5 ¥ gerdT Hdt € | 9 310 Ui @
TS Tl & TR e o | &1 AT AT ATedt & | T 39 DI ot bl 370 @
firet sht et Jear o o H % ot qaT T & IST6eh ST 38k TN 3l 3T Y U
W % Zohg Shi qATST AT BT |
Rem 1 TRER g J#R & @dl X @ 8 ? 3GH! feeal qt fFearsst &1 qufq
FIfeTT | 1+2=3
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22.

23.

24.

25.

26.

#
SECTION B
(Very Short Answer Type Questions) (4x2=8)
Suggest any two measures to remove gender inequality. 2
Explain two important characteristics of Black soil. 2
(a)  Explain the role of anti-colonial movement in the rise of ‘modern
nationalism’ in India. 2
OR
(b)  Why did Gandhiji say ‘Satyagraha is pure soul-force’ ? Explain by
giving two arguments. 2
How did improvement in transportation technology stimulate the
globalisation process ? Explain. 2
SECTION C
(Short Answer Type Questions) (6x3=15)
“The ideas of nationalism developed through a movement to revive
Indian folklore.” Explain the statement in the context of the national
movement. 3
Read the story of Rinjha and answer the question that follows :
Story of Rinjha
Rinjha lived with her family in a small village at the outskirts of
Diphu in Assam. She enjoys watching her family members clearing,
slashing and burning a patch of land for cultivation. She often helps them
in irrigating the fields with water running through a bamboo canal from
the nearby spring. She loves the surroundings and wants to stay here as
long as she can, but this little girl has no idea about the declining fertility
of the soil and her family’s search for a fresh patch of land in the next
season.
What type of farming is Rinjha’s family doing ¢ Describe any two of its
characteristics. 1+2=3
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27.  “USHIfde G T AR ol R ST HeRdT |7 36 U o fawg SugEd del @
forvetyor i | 3
28. (F) Alhdd H SHITH gl o HETT oh! oITEAT ShITSTT | 3
AT
(@)  9RA - Sgaciy SHAEAT i R SFAUATAT ? Iford dohi Al AT HIVT | 3
29. WA H Hohel BLT] 3cUTE (GDP) H qeleh &5 o AN ol Hedioh shifsy | 3
LCLER)
(Srd-3w0T a9 ) (4x5=20)
30. (%) IEdl GG H A F TG F AR o FHIT H Wi 7 Th IEH A
1T | SATETE o Hav H 56 U 1 Jeaish hiisg | 5
arraT
(@) <1871 % & JAW H T TZadl qIeT T BN SATee & o |” T ATare
o Haw H 58 U T AR hiTST | 5

31. (%) “BICT % YHIV SdTd & fob O o g AT H YT STt o1 31fd U Tk i
Hehe ST ST T8T @ |7 fohrer o amofiadt & o # 36 o 1 oo

Hif | 5
YT
@)  “fafsre= 2oft o S % T o e T 81 "ohd © |7 39 T T ik
T | 5
32. (F) “TArhdd I T QIR & fof SEeht Sifa-00e vt Ted T Biell | IWEd aoh!
Tied e shl AT HINT | 5
YT

(@) AR ATEAT I FAEATHT ¥ S 8 |” U qohl Aled HAT

ST HINTT | 5
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27. “Political power cannot be divided.” Analyse suitable arguments against
the statement. 3
28. (a) Explain the importance of political parties in democracy. 3
OR
(b)  Why did India adopt the multiparty system ? Explain with suitable
arguments. 3
29. Evaluate the contribution of the tertiary sector in Gross Domestic
Product (GDP) in India. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) “Culture played an important role in creating the idea of the
nation in 19t century Europe.” Evaluate the statement in the
context of romanticism. 5
OR
(b)  “The most serious source of nationalist tension in Europe after
1871 was the area called the Balkans.” Evaluate the statement in
context of Slavic Movement. 5
31. (a) “Recent evidence suggests that overuse of groundwater is
becoming a serious threat in many parts of the country.” Evaluate
the statement in the context of sustainability of development. 5
OR
(b)  “The development goals of different categories of people may
differ.” Evaluate the statement. 5
32. (a) “One distinct feature of democracy is that its scrutiny never ends.”
Explain the statement with appropriate arguments. 5
OR
(b)  “Democratic system is better than other systems.” Explain the
statement with appropriate arguments. 5
I 32/1/3 Page 19 of 27 P.T.O. I



33. () “fafmior 3TN fReT 31 o STk forerre sl fie wwel ST © 17 39 U &l

~TIETd 38T | 5
AYAT
(@) oIS AT JENT Toh-THL o T & | 38 2 ! =ATIET ST | 5
Qs g
(RO /ETA-ATHTA T9 ) (3x4=12)
34. feuwww g =+ ufew it 3us = fiw e gt & S i -
ST IeT ahT Ueh UIRT

SITSTIeT o YT uial Uerd 3 farshsientor o7 Fmfient i afshr Trfier aret ek &
T T Ueh {ITeqor ST fohaT 8 | 59 T8T o TR-UNuE & HHIaL Ueh HT1T @ fohaT
TRIT 3T 7Y ITT o N T FTEfereh Hoet i 3T SATrehr T farfe=n st fozm
2 | 38 e o HleT 13 ARG ANT 79 I HT 91 I A H WHIEHT Fid & | 8T h
¥ -G F dfer T & — T 3 & £ & 9 wed | W Iu-a Y
-3 S Bt ® FormenT TEy o war it g ® 3T 3O 3 saT o ot
AT W o Tohd @ | T, 3 dash gL 18T sl ITfad i aTel J8l W it & HR
IGH IS I IS AT AT 9T o HohdT & | 69 e o ol W Il aidl & | 366 918
T SEATET ShT TTRUTICTehT o |TH U7 f3harT STTar 2 ST Sifa Sherem At 2 |

(34.1) ‘Gl Arema’ o 379 ol T4 iU | 1

(34.2) TfRAET & sean & T |, f&am TaT IeTer foher Sehr Shl SmE WoTTet
it swear @ 2 1

(34.3) SISt % IUYed IATET0T § THTHT FHeA1-S[erdlt W 2hl FaTET o T3 ol U

i | 2
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33. (a) “Manufacturing industries are considered the backbone of the
economic development of a country.” Justify the statement. 5
OR
(b)  “Agriculture and industries complement each other.” Justify the
statement. 5
SECTION E
(Case/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

An Experiment in Brazil

A city called Porto Alegre in Brazil has carried out an
extraordinary experiment in combining decentralisation with
participative democracy. The city has set up a parallel organisation
operating alongside the municipal council, enabling local inhabitants to
take real decisions for their city. The nearly 13 lakh people in this city get
to participate in making the budget for their own city. The city is divided
into many sectors or what we call wards. Each sector has a meeting, like
that of the gram sabha, in which anyone living in that area can
participate. There are some meetings to discuss issues that affect the
entire city. Any citizen of the city can participate in those meetings. The
budget of the city is discussed in these meetings. The proposals are put to

the municipality that takes a final decision about it.
(34.1) Explain the meaning of ‘participatory democracy’. 1

(34.2) In the context of separation of powers, the given example defines

which type of government ? 1

(34.3) Describe the structure of the system in India which is almost

similar to the above example of Brazil. 2
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35. fouwTw HIa i afey X 3wk == fau 7T AT o T AT -

TEeRRt witfaat & T
SR o STCATAT JTHIOT &1 § W kYT T U 311 T A HehR! Qi & |
HEHHT AT o TEET 70 HETAT bl S &1 H HEANT b (T8 Teh hLd & | T3 T
=1 HEhT AHiaET € €, S — foheTl, SeRtl Tel STefish asTqll gearie st gkt
afufaat | FF WEHR WHIA WAL & ASGR T TMa H HW HAl 8 | Fh
2300 TR wee § | 7% ST0- TeT & STHT TS T & | 36 STHT Y T RO HHS
U, 39 HEhHT Wil 3 ok § ST 01 Ted foRAT & | 36 USHT ohT SEqWTeT Eaeal ol st
4 9 ToTQ fopam SITaT 8 | 718 0T Sle o 18 s T GEU SR & [ohT ST A & |
N TR AU Y YT TRIGH, Wl TAT Y SATIR B, TSSAT Tohe, T
T ST 317 ferfreT repm 36 @it o o sweor e st 2 |

(35.1) FEhIT Giufaat swor & fore Gid & FAdTid AT & 2
(35.2) Feshir Tfafara 1 4ft 3 foreel &t &l T Seca HIfT |
(35.3) ol <t 31T afg § Treepry wftrfaat St wfirert i T Aifv |

36. U T H FI Ul 7T 35k e I gyt & I i
i @it ufasier

Tl 376q shY ATehd T STATST STHET TLHR GRT IHRT HARIT LA hl BT &
firetar & | Wi 7 Sfufafites Temes enw aume fhdret iR w-iehTel W TSR T
o7 AT S O {25007 T o oI sIga- i i e o |

Teet foreat 3 o R, Rl T R % e, 22 STEeR Y SEa o ue off |
TTH ¥ 18 o THNT TG A hl SHTE G i S8 HL o1 Irord GHT | TS & 3Tef
T WA Hifd 4 1919 # fafsr= steemil & Raere AT 3nfe swiarsat i e
aed T T | Tt forear g oht SreetTa W, sty vear sferfe arfi forar T, anfen
Fg-aeelt forart ot Her fopam ST 6o | ITRA SISt S & e a0 U 36t & d8d
GO Bt off | ST 1942 W qehtis 90 TSR ohT SH foham 7T |
(36.1) “TEL =T 379 T HIFT |
(36.2) TUMATITE JRITE feRaTet 37T U=-UTehTaTY U AT TSR T T 2
(36.3) TITEfIST o {eTe THe % foreg, STeATdt W it 3% foham 2 foreel & ot i

T T |
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35. Read the given source and answer the questions that follow :

Loans From Cooperatives

Besides banks, the other major source of cheap credit in rural
areas are the cooperative societies (or cooperatives). Members of
a cooperative pool their resources for cooperation in certain areas. There
are several types of cooperatives possible such as farmers cooperatives,
weavers cooperatives, industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of
agricultural implements, loans for cultivation and agricultural trade,
fishery loans, loans for construction of houses and for a variety of other

expenses.

(35.1) Cooperative societies come under which source of credit ? 1
. . . _ 1 1

(35.2) Mention any two sources of capital of cooperative societies. 3 +§ =1

(35.3) Explain the role of cooperative societies in increasing the income of
farmers. 2

36. Read the given source and answer the questions that follow :

Print and Censorship

The power of the printed word is most often seen in the way
governments seek to regulate and suppress print. The colonial
government kept continuous track of all books and newspapers published
in India and passed numerous laws to control the press.

During the First World War, under the Defence of India Rules,
22 newspapers had to furnish securities. Of these, 18 shut down rather
than comply with government orders. The Sedition Committee Report
under Rowlatt in 1919 further strengthened controls that led to imposition
of penalties on various newspapers. At the outbreak of the Second World
War, the Defence of India Act was passed, allowing censoring of reports of
war-related topics. All reports about the Quit India movement came under
its purview. In August 1942, about 90 newspapers were suppressed.

(36.1) Explain the meaning of ‘censor’. 1

(36.2) Why did the colonial administration keep an eye on books and
newspapers ? 1

(36.3) Why did Gandhiji start a nationwide Satyagraha against the
Rowlatt Act ? Explain any two reasons. 2
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(AT ShI9TeA-SATATRA o) (2+3=5)

87. () RA % G TSHfeh WEr-AHE (T53 27 W), § &1 T @ A’ 3TRCB’ %
Y T 3ifcra forar mor 7 | Ffafea smert i gemar @ 3% ggenfie ofit
3ok TR AT 3ok AT il 78 W@l W fafan : 2x1=2
A, I8 T S8l 1920 H WA TS Hidg T STTEeRH g7 T |
B. o8 TN S8l @ Mrish 3 3t Al ot gesta 6l off |

e : [HFTCTRad J9 Shaet greaTiera GRierTierat & 1o7Q o7 §&aT 37 () % € TWE |

@) () 36T & AW faRay SEt 1920 T IR TSS9 H AfeEE
g e |

(i) 38 A %1 AW fAfla st @ il 4 giet arel h AT A oAt | 2x1=2

(@) WA % gt T w@r-Ates §, fefafaa & & et a1 sugaa forsi
Y TIT3T 31T 3 A ferflae : 3x1=3
(i) S 3eured § i T
(i) Tora H feord qeaTyy St ER
(i) FRES H Reud e Tie-3eTa
(iv) 7% T g it il o ue

qe :  FHfREd T Faa gigaTtera qdteierai & fo7q 597 & 37 (W) % € WE |
@) gt a7 391 & SR T | 3x1=3
(1) S 3Icured ¥ Ul Ty 1 AW i |
(i) 38 TN o1 A fARI STl TSI # awaTy] Shoit 63 R € |
(iii) S8 T T W AT et sies | oite-geurd §97 e 7 |
(iv) 38 ¥ o1 9 fARae st #ft 76 0 e St sfasdia ary oo ferd
2
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress
was held in 1920.

B. The place where Gandhiji started Dandi March.
Note : The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in 1920.

(i1) Name the place where Gandhiji started Dandi March. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3

) Leading state in production of Jute
(i1)  Atomic Power Plant located in Gujarat
(iii) Iron and Steel Plant located in Jharkhand
(iv)  Sri Guru Ram Das Jee International Airport
Note: The following questions are for the Visually Impaired Candidates

only, in lieu of . No. 37 (b).
(b) Attempt any three questions. 3x1=3

1) Name the leading state in production of Jute.

(i1) Name the place where an Atomic Power Plant is located in
Gujarat.

(iii) Name the place where an Iron and Steel Plant is located in
Jharkhand.

(iv) Name the place where Sri Guru Ram Das Jee International
Airport is located.
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